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Name ______________________________

Short-answer questions/problems

1.  Assume that Redguard Inc. decides to get surplus cash out to its stockholders by repurchasing shares rather than by paying a dividend.  What fundamental issue makes the typical stockholder better off with the repurchase than the dividend?

2.  Briefly explain whether a liquidating dividend is more likely to be a stock dividend or a cash dividend? 
3.  According to actual evidence from the stock market, how do stock prices for the typical firm change on the ex-dividend date?  Briefly explain the reason for this reaction.
4.  According to the signaling theory of dividends, what does management consider when setting the current dividend?

5.  If you were to order the dates associated with a dividend on a calendar, which of the dates would occur first?

Problems/Essays

1.  Assume you own 1,000,000 shares of Redguard Inc.  Redguard has assets with a current market value of $600 million and a book value of $110 million.  Redguard also has outstanding debt with a market value of $100 million and a book value of $90 million.  Redguard has recently announced that it plans to buy back 500,000 shares of its 10 million outstanding shares at a price of $80 per share.  

a.  What will be the price per share for Redguard stock after the repurchase?

b.  If current stockholders offer to sell back a total of 6.25 million shares, how will your wealth be affected if Redguard repurchases the shares via a tender offer?

c.  If Redguard repurchases the shares via transferable put rights, how much cash will you receive if you sell ½ of your puts and exercise the other ½ of your puts?

2.  As a part of your job interview with Khajiit Inc. you have just walked into the office of the Chief Financial Officer (CFO) of the firm.  As you sit down, the CFO hands you a copy of the firm’s most recent 10-k.  She then asks you a two part question:  1) How would you use the information in this annual report to decide whether to accept a job offer from Khajiit Inc., and 2) what additional information would help you use the information in the 10-k to decide whether to accept a job at Khajiit Inc.?  How do you respond to the CFO’s questions?  Be sure to discuss how you would use any additional information you mention in part 2) of your answer.

3.  Argonian Inc. is considering building a new factory with 20-year life that would involve an initial investment of $1,500,000.  The factory is expected to produce net, after-tax cash flows with a present value of $1,600,000.  However, Argonian estimates that if sales at the new factory fail to live up to expectations, the facilities can be sold any time over the next 5 years for $900,000.  The project will be funded with internal cash of $100,000, by issuing debt that matures 10 years from today for $1,100,000, and by issuing common stock if necessary.  Argonian estimates that while the new factory is riskier than existing assets (the standard deviation of returns on the project is 52%), the low correlation with existing assets will cause the standard deviation of returns on the firm’s overall assets to fall from its current 35% to 32%.  Given the risk-free rates below, what is the impact of undertaking this project on the value of Argonian’s assets?

Risk-free rates by maturity (all APRs with continuous compounding):  1-month = 1.15%, 1-year = 1.28%, 5-year = 2.95%, 10-year = 4.22%, 12-year = 4.27%, 15-year = 4.51%, 30-year = 4.80%.
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4.  You are considering investing $5000 in JPMorgan Chase stock and $15,000 in Wal-mart stock.  In order to estimate the risk you will face, you have collected the following return data on Wal-mart and the S&P 500.  


Return on:  

Economy
Probability
S&P 500
Wal-Mart
Recovery
.5
+21
+28

Same old
.3
-9
+4

Much worse
.2
-22
-20
If you estimate that the beta for JPMorgan Chase is 1.76 and that the correlation between JPMorgan and Wal-Mart is 0.7, what is your estimate of the beta of the portfolio you will create?
5.  Suppose that George Bush is able to convince Congress to cut personal tax rates.  But to offset this loss of revenue, Congress votes to raise corporate tax rates.  Show graphically and discuss how these changes will affect the total amount of debt in the economy, the amount of debt issued by the typical firm, and the tax rate for the marginal investor in bonds.

6.  Breton Corp. is contemplating investing $350,000 today and $100,000 two months from today to build a new factory.  Of the $350,000 that would be spent today, $50,000 would be the cost to pay Land Reform Inc. who has just finished clearing and leveling the land.  The $50,000 will have to be paid regardless of what Breton decides regarding the new factory.  The factory is expected to produce a net cash inflow of $40,000 five months from today.  After this initial cash inflow, net cash flows are occur every 3 months and are expected to decline by 1% per quarter through the final cash flow four years and eight months from today.  The beta of the project is 1.2 which exceeds the beta of the firm’s existing assets of 0.9.  Assume the risk-free rate is 1.1% and the market risk premium is 8%.  What is the impact of building the factory on Breton’s value?  Should Breton build the factory?

7.  Nord Inc. is considering paying a dividend for the first time.  Discuss the conditions under which stockholders might be better off if the firm take the cash they would have used to pay the dividend and invest it in a negative NPV project instead.

